fot
@ Consider the following statements about New

National Education Policy approved b Union~
Cabinet of India on 2gth Jul);/, 2%?20 ! {

1. It was drafteqd by a Committee headed by
Dr. K. Kasturirangan.

2. 1t Wwill replace the previous Education Policy
which has been followed since last 38

years.
Select the correct statement(s) from the codes
given below.
Codes :
(@) 1 only

(b) 2 only

(c) Both 1 and 2 (d) Neither 1 nor 2

Valley of Kashmir is situated between
(a) Kangara and Dhauladhar ranges
(b) Pir-Panjal and Himadri ranges

(c) Mahabharat and Dhauladhar ranges
(d) Pir-Panjal and Mahabharat ranges

3. Which of the following Indian States/Union
Territories launched Electric Vehicle Policy on
7™M August, 2020 ?
(a) Madhya Pradesh

LAc) Delhi

4. Consider the following tributaries of River Yamuna
and arrange them from West to East :
1. Betwa
2. Ken
3. Sindh
4. Chambal
Select the correct answer from the codes given
below.
Byl (b) 1,2,3and 4
4, 3 1and?2 , 2,3 an
Vg& 2,1and 4 (d) 2,3, 1and 4

(b) Uttar Pradesh
(d) Tamil Nadu

5. ) Which of the following Indian Foundations has
received the Food Vision 2050 prize in August
2020 ?

(a) Smile Foundation
(b) Naandi Foundation
(¢) Adani Foundation'
(d) Reliance Foundation

6. Which one of the following is NOT correctly

matched ?
(Country) (Iron-Ore
Producing Area)
(a) Kazakhstan =

(b) Ukrain =

LAC) Germany _
(d) France =it

Karaganda |

2. e fam 3g @ @ < froeh
arft | :
4 o gz e o 1 9

%e:
el 1 (b). a2
((2;13ﬁ12aﬁ (@) 3178 2

Hurfi =rdt feya 2 :

(a) Himer 3N Hienyt ydd-Afori & 7ed
(b) Fre-tiomer ik femrt wefa-Aforat % A
(c) TR 31 witer weq- Al & 7eA
(d) re-toTet 3R FETHRE g - Afvrer b Hed

Frferfiad | & fopm Tsa /4 Ts3EE g 7 37Rd, 2020
%! forggd =nferd are Aifq 1 =won 61 1 R 7

(a) AR (b) 3T Hew
(c) feeh (d) afirerrg
a1 ) b frerferfad wers Afedt gt famm Hifsg
3 3% ufvem | qd A1 300 0 § Hafeyd S
1. dqar
2.
3. fay
4. Jeayet
= el ™ e & w3 g |
e |
(a) 4,3, 13N 2 (b) 1,2 33 4
(932,134 (d) 2,3 134
ftferfiad o & firg MR BISURYN 3 377 2020
H % 49 2050 HR wret gy 2 &
(a) TTEE BrIvRem '
(b) T8 wIRvRYH

(c) et wRvRyH
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7. First ever containership from Kolkata Port to
Agartala was sent through which one of the

following Ports of Bangladesh in July 2020 ?
(a) Benapole .

(b) Maloti
(c) Payra
(1) Chattogram (Chittagong)

8. Inwhich of the following regions of the world, the
production of citrus fruits is well developed ?
(a) Monsoon regions
(b) Tropical high lands regions
L&) Mediterranean regions
(d) Equatorial regions

@ Who among the following has been awarded with
the Life Time Excellence’ Award in Earth System
Scence in July 2020 by Ministry of Earth Sciences,
Government of India ?
(a) S Suresh Babu
(c) S P S. Kushwaha

(b) P. L. N. Raju
(d) Ashok Sahni

10 Match List - | with List - Il and select the correct
answer using the codes given below the lists |

List - | List - Il

(Tropical cyclones) (Country)
A Baguios 1. Australia
B Hurncanes -~ 2. China
C Typhoons - 3. Philippines
D Willy-Willies 4. United States

of America

Codes :

A B c D
(@ 3 4 1 2

3 4 2 1

2 3 4 1

2 1 3 4

10.

RFL -1

FITHA FEOTE ¥ SRR % foru qgeft WR
TR SR ST 2020 3 SeniE 3 Fetfe
1§ 3 form TeuTR A g O T 2

(a) STIE

(b) T
(c) ¥

(d) =g (faemtm)

v % Pt weet 3 & e g2 what we
(a) AR wew

(b) IwThREH Iwaqfy WeH

(d) HEAEE veu

gedt s WTER, M SRR G e 2020 H
frferfiaa # @ fsd gedt woreft R # w1EE
mm-mmmwi?

(a) H. I &Y (b) . et T T
(c) v/, @, u§. HyEE  (d) Wﬁ*m

gt - | @ g - 1|} gifra At au gRE %

4 foi i e /W I g
e - | qh-1
(swrafrasita wwam) @)
A B3 1. Jrefern
B. ®ftd 2. 9N
C. Z%F 3. fwferamg=a
D. faeht-faret 4. H T SR
L I
A B C D
(@) 3 4 1.2 -
® 3 4 2 1 |
© 2 3 4 1 g
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12. Darling range is situateq along which of the
following coasts of Australia ?

(@) North-Eastern Coast
(b) Southern Coast
(c) Eastern Coast
(d) South-Western Coast
13. Arrange the following events in chronological
order of their Commencement :
l. Project Tiger
Il. Project Elephant
1. Wildlife Protect Act R
IV. Biological Diversity Act

Select the correct answer using the codes given

below.

Codes :

(@ 1,1, m, v (b) 11, 1, 1V, 1l
L/éc) w (d) n v 1,

14. Which of the following ocean currents is
associated with Indian Ocean ?

(a) Florida current (b) Canary current
LAc) Agulhas current (d) Kurile current

15. The movement of nutrient elements through the
various components of an ecosystem is called

Oxfd) Bio-geo-chemical cycle

\b) Bio-geological cycle
(c) Ecological succession
(d) Biological cycle

16.  Match List — | with List — Il and select the correct
answer using the codes given below the lists :

List -1 List -1l
(Ethnic Group) (Country)
A. Jews 1. Egypt
B. Teda 2. Iran
C. Beja 3. Libya
D. Lur 4. Israel
Codes :

A B C D
(@ 1 2 3 4

by 4 1 2 3 -

(c) 4 G IR
(d)y 4 3 1 2

17. Where was the Mitti Bachao (Save the Soll i, it

Movement started in India ?

13.

14.

15.

16.

e g7

(a) STl T

(b)%&wﬁﬂz

(c) ydt d<

(d) gfeoft-—afyerdt a2

P TeTa 1 3 SO % HICTHEA |
aferd I ;

lﬁmfg

I, SToiee &

|11, g=rsfia |eequr rfefam

IV, g fafauar sfufem

9 e T e & wE IW M |
gﬁumv (b) I, 1, IV, Il
) I, 1, 11, IV (d) 1, IV, 1, 11

ffafiga § @ SH-a1 geErRE 9 fa< qeEn
q grafg 2 7

(a) Feifer G (b) ST I

(c) SR YT (d) RS T
@qﬁ@zﬁﬁaﬁ%ﬁﬁamﬁ@wﬁw
Tl T TORAT FHEeTTdT 2

‘3’33 YT 56 ;
(b) Sta-yyfifer =ss ;
(c) urffeufaer 3rgsmm -
CEEREF]

gt — | &y - 11 8 giferq
ﬁﬁg ﬁ%éﬁmjimwm
-1

(quz) (3wm)
. firg

B OOm>
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3 18. Which one of the following is NOT correctly | 1g fufefiaa & @ -1 v g gHferd Tie ?

matched ?
(Countty) (Capital) () (et
\4d) Morocco = e (a) HIT#RI - @\
(b) Tunisia - Tunis (b) TR - g
(c) Algeria - Algiers (c) JFeSATL3T — HeAgd
(d) Cape Verde - Bamako (d) 9 @ - AT
* 19, Without green house effect, the average 19, &fd e W (i 199 ghee) % ST § Y-HAE
- temperature of earth surface would be &1 3Fd qIHE arm
(a) OZC AB) —18°C (a) 0°C (b) —18°C
, (c) 5°C (d) —20°C (c) 5°C (d) - 20°C
b di '
I et i | et e
minerals ? L2 C f
(a) Uranium (b) Bauxite (a) iﬁﬁ'ﬂq (b) STHATEE
(c) Manganese (d) Mica (c) B CRELED
" 21 The entire sequence of communities that | 21. HHawE! 1 qoishH Sl shAv: T ffad T
successively change in a particular area are Seedl &, HEardl
called (a) uTitfeufae 3rgHT
\(ayEcological succession (b) ¥
(b) Sere '
: (c) Community dynamics (c) G Tl
' (d) Pyramid of biomass (d) Sawr @1 foafis ,
92 Match List — | with List — Il and select the correct | 22. gt = | 1 &= - Il & gAferd i qur i &
: answer using the codes given below the lists : f fadt T e A wd I I
List — | List -1 gt - | -
(Mountain) (Country) (qdq) (3 )ﬁq
A. Atlas 1. France/Spain A. Teed 1. WE/
B. Kalimanjaro 2. Ecuador B. iSR! g ECEEAL
C. Chimbrozo 3. Tanzania C. Tt 4, GEEIEDI]
D. Pyrenees 4. Morocco D. gt . TR
: Fe:
Codes : o ar PRI ot
A R g 3) s eI
\6) 4 3 82 : by 4l i o
) & ol ¢ ; ’ o) 2! A
@ 2 dj 1 BLadan
@ 1 3 4 e @ it

Which of the following natural substances | 23.

contains iron (Fe) ? S
(a) Chlorophyll (b) Collagen

(c) Keratin \«df Myoglobin

4. In Malaysia, the 'Kinta Vall
- \{3) Rubber Production
~ (b) TeaProduction
~ (¢) Tin Production
~ (d) Coffee Pro
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25! Cf}leg:jge in the base sequence within a gene is
ca
\ &) Mutation (b) Cloning
(c) Fusion (d) Breeding
26.

The equator does NOT pass through which of
the following Countries ?

1. Gabon
2. Somalia
3. Equatorial Guinea
4. Rawanda
Select the correct answer using the codes given
below.
Codes :
(@) 1and 4 Y(6) 2and 4~
(c)2and 3 ~ (d) 3and 4
@ Which of the following is used in fire alarm ?
« (a) Photocell  (b) Water
&9%cT Solar cell Mne of the above
28.  Which Part of the Constitution has the provisions
for Panchayati Raj System ?
Ly IX (b) VI
(c) M (d) IVA
29.  Which of the following polymer is NOT a

30.

31.

(&) Liver

32.

thermoplastic ?

(a) Teflon (b) Neoprene

(c) Polystyrene gy Polythene
When was the third tier added to Indian Federal
System ?
(a) 1990 (b) 1991
w(e) 1992 (d) 1993
In human body, the digestion of protein begins in

which of the following organs ?
(b) Mouth x

(c) Small intestine (d) Stomach

Which of the following is NOT possible by a law of
Parliament under Article 3 of the Constitution ?
(a) Formation of new States

(b) Alteration of areas of States
(c) Alteration of boundaries of States

\+4d]”Admission of new States

33.

Use of polished rice in human diet cauut
following diseases

(a) Rickets _
(c) Goitre &7 Beriberi

25.

26.

20

28.

29.
30.

31.

32.

(b) Anemia

RFL.

(s:)v{%; (b) SferEa

(0) W1 WS

ﬁqﬁmaamaﬁﬁﬁwwﬁmﬁi

grﬂ?ﬁ?? , j
amﬁm ‘

gsﬁwmm

ﬁﬁanaa@z@a@mﬁﬁﬂ'

R 2 37 4

) 130 4 b)

Ei)zaﬂts d) 33T 4

wmﬁﬁmﬁmaamm
a1 & ? SR

(a) BT | ,
(c) € &4 (d) 39U H ° g L

dfguM & frg W H TR TS SATET
ey fed ™ Ee

(@) IX (b) VI

(c) Il (d) V&

Frrferfiaa 3 & a1 wEeh, Uoh YHIAR T8 &
(a) 3HTH (OREEIIES ’
(c) TTfer=H (d) uiferefiq

(a) 1990 (b) 1991 3
(c) 1992 (d) 1993

E YR A 9 o e frfufia 6 @ g
H YRR B R 7 .

(a) b) % =
(c) B 31T Ed; EE R
ﬁumaﬁamm ‘
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N4 Inthe removal of which of the following officials

does the Parliament NOT play any role ?

1. Judges of the High Court

2. Judges of the Supreme Court

3. Chairman of the Union Public Service
Commission

4. Comptroller and Auditor General of India

Choose the correctanswer from the codes given

below.

Codes :

(a) 1and 2 only

(b) 3 and 4 only
(c) 1,2 and 3 only

Ui 3only

35 Which of the following vitamins is mainly responsible
for blood coagulation in human being ?
pey Vitamin K (b) Vitamin E
(c) Vitamin A (d) Vitamin C

' 36. The superintendence, direction and control of all
elections to the Panchayats are vested in

(a) The Governor

(b) The Election Commission of India
(c) The District Panchayat Raj Officer
V(,d) The State Election Commission

37. Consider the following statements about human
brain :
1. The brain is responsible for regulating the
heart beat.
2. Itis responsible for balancing the body.
Select the correct answer using the codes given
below.
Codes :
(a) Only 1 is correct
I (b) Only 2 is correct
{A4€) 1 and 2 both are correct
(d) Neither 1 nor 2 is correct

38. Which one of the following pairs is NOT correctly
matched ?
(a) Interstate Council
- (b) Finance Commission
- L{¢) Administrative Tribunal
(d) Union Public Service:
Commission

~ Article 263 —

20

Which of the following sub."‘
from a tree ?

~ (a) Asafoetida

Tincal

Article 280 “’ ‘

34.

35.

36.

37.

RFL - |

fore 1 @ -8 et @1 ger 1 Tug B
yftyerr 7@ &1t 2 7

1. I=a AAGE & A

2. Iedd AT F FrArdre

3. HALNE, 9 b Gl AN

4. WTE & fraEe 3 HETerETaias

f2 &3 T e @ wdl IR I |

E

(a) adl 1991 2 (b) Faet 3941 4
(c) ¥ael 1,2d413  (d) Had 3

frrferfiaa & @ B -1 ferfid 9gs # W & 5
& fou fomer 2 7
(a) faarfia
(c) faarfim ©

Tt & fore wUd o are gt fateEt & =i
&1 e, Frem ot fres fifed & 2

(a) T=gIT §

(b) ¥Rd = fate smam §

(c) foren v=maa T sifuer |

(d) T ot e |

Hra uferss % an § fEfafigd s w fa=n
Hifyu

1. afersh geara @ Ffd @ o foru 3oer 2 |
2. 72 Y % "o & fore Ier 2 |
Tﬁ%@@f&ﬂﬂﬁﬁﬁﬁﬂl

(a)%.aaﬁré%
(b) Fae 2 HEl
(c) 13 2 g1 wet &
d)adM 1T 25 2

ORECLEE]
(d) faerfm i
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40. Which Atrticle of the Indian Constitution describe

the Central Vigilance Commission ?
Artfcle 268 (b) Article 280
(c) Article 276 V(,d')’ None of the above

@ Given below are two statements, one is labelled as

Assertion (A) and other as Reason (R) :

Assertion (A) : Invert sugar is more sweeter than
sucrose.

Reason (R) : Invert sugar is obtained by the
hydrolysis of sucrose.

Select the correct answer from the codes given
below.

Codes :

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)

(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)

() (A) is true but (R) is false

(d) (A) is false but (R) is true

2. ) Consider the following Chairpersons of the

National Women Commission -

1. Jayanti Patnaik

2. Mamta Sharma

3. Dr. Girija Vyas

4. Dr. Poornima Advani

Select the correct chronological order of their
appointment from the codes given below.

Codes :
(a)2,1,3and 4
(c)1,3,4and 2

(b) 2,3, 1and4
«(d) 1,4, 3and2

43. Match List — | with List — Il and select the correct
answer from the codes given below the lists :
List— | List -1l
(Metal) (Property)
A. Sodium 1. Good conductor
of electricity
B. Mercury 2. Liquid at room
temperature
C. Silver 3. Poor conductor of heat
D. Lead 4. Can be easily cut with knife
Codes : !
A B €. D
(@) -2 355N 4
(b) 1SR 4SEEE D
L~(C): 4l LRI 3
(d): 4R L L EORS
TBRY - RSN

41.

42.

43.

mﬂ%—raﬂhm%? 280
8 (b) T4
Oz (@ T

13y e A A €, e 800 1 9 Ay

R) el A1 # :
a8 A T S

;ﬁm%(;):mmﬁgﬂﬂa%aa-m

aTed TR ST @ |

2 3 ) %o @ wd IR AT |

g(A)m*k(R)aﬁaﬁw(R), (A) 1 7
T AT 8

(b) (A) 3 (R) ST @&t & 9T (R), (A) Sl
STEIT 98] Al &

(c) (A) &ed & W (R) 7T9d 2

(d) (A) TeTd 8 W (R) 9 &

ISR SRR SIECH O ST S, g

1. I 9e=IH .i

N

3. sf. fifen s
4. 2. qfofr srearH |
mﬁg%wwmﬁﬁﬁ@#
gf | }
%e:
(@) 2, 1,33 4 (b) 2,3, 134
(c) 1,3, 4 3M 2 (d) 1,4 332
w-uaﬁa;aﬁ-uﬁgﬁﬁ-maﬁrﬁmam."
1= 3™ Fe & 7 s g

TEft - |

(8mg)
A. Hifeay 1
B. 9mr
C. =idt
D. Hin (are)
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44.

47,

48

(d)

~ Which one of the following substances is NOT

- (d) Achiever

Which region of the country conferred special
status under Article 371-J of the Constitution of
India ?

Nagaland
p) Hyderabad and Karnataka
) Maharashtra and Gujarat

(c
Ladakh

synthetic ?
a) Fibroin
(c) Neoprene

(b) Lexan

Ud')/ Teflon

~ Which one of the following is NOT correctly

matched ?

(a) Fundamental Duties -  PartiVA
(b) The States - PartVi
(fc] Attorney General of India - Part XIll

(d) Services under the -  PartXIv

Union and States

Match List — | with List — 1l and select the correct
answer from the codes given below the lists :

List—1I List - Il
(Substance) (Use)
A. Blue Vitriol 1. Artificial rain
B. Eosin >42. Fungicide
C. Silver iodide 3. Redink
D. Zinc phosphide 4. Rodenticide
Codes :
A B Chab
@ 2 3 4 1
(b) 2 1 SHENE
\ele]” 2+ 3 4700
d 2 4 1 3

Which is the largest Committee of the Indian
Parliament ?

Liay Public Account Committee

(b) Estimates Committee )
(c) Committee on Public Undertakings

(d) Committee on Petitions

According to the Report released by NITI Aayog |

‘Sustainable ,Qevelgpmept

in December 2019 on
Goals India Index 2019-20', the Uttar )
grouped under which of the followin:

(a) Aspirant i
(b) Performer
(¢) Front runner

Is |
A

44.

45,

46.

47.

48.

RFL — |

wméﬁuﬂ%azﬁaﬂvsr%mﬁaam%
fopm 8 1 fordr feafd swem 1 s 2 7

(a) AMTAVS
(b) FeuaTe 3N FHAfeh
(c) HTsg 3N AT
(d) <fqard
* Freffiad § @ we-a1 HEm gerd T8 2 7
() BIEHIEA (b) TFEH
(c) fratdia (d) dueH
e & @ FH-a1 b ag gaferd T@ & 7
(a) TSt oA _ WmMIVE
(b) T3 - HmVi
(c) W o1 HETATIETG! — Xl
(d)ﬁﬂaﬁtrm?%_»‘g‘ﬂ‘-lﬁm@ —  WEXIV
agﬁ-mqaﬁ-u%gﬁ%aﬁﬁqamq%zﬁ%
f9 3 T e @ W W A :

T - | -

(wared) ( )
A e aren 1, ast
B. 3anfaa 2. ShaehATsft
C. fueat sreRe 3. A S
D. firs Giohrge 4. Faeha (VSweAmel)
F2:

A 'piicHD
(2 2L SR A
(b 21 ISR
(C)F P2 N3
(d)f 2RS4 S
wdr e 1 wad adt afifd FH-H R 7
(a) @ d@r Efa '
(b) ST E T AR
(c) @ SmHm |ffy
(dmﬁﬁ_'#ﬁr@g
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50.

S1.

£2)

53.

(a) 10 \M Lq e
afer 2.1 Was
54 What can be the minimum stren;

Which Articles of Ind
to citizenship ?

(@) Article 31010 (b) Article 4 to 11
L4eT Atticle 5 to 11 (d) Article 6 to 11

Which of the following cities of Uttar Pradesh

IS/are covered underthe ‘Heri i t
] entage City Developmen
and Augmentation Yojana (HRIDAY) ?
1. Varanasij

2. Mathura
3. Prayagraj
4. Ayodhya

Select the correct answer from the codes given
below.

Codes :
(@) 1 only (b) 3 only
(c) 1and 2 w@r1,2 3and 4

Given below are two statements, one is labelled
as Assertion (A) and the other as Reason (R) :

Assertion (A) : The nature of Indian Political
System embodies the elements of ‘continuity and
change’.

Reason (R) : The Indian Political System
contains the elements of the following political
system such as the modern style, the traditional
style and saint style.

Select the correct answer from the codes given
below
Codes :
(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)
(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)
(c) (A) is true but (R) is false
(d) (A) is false but (R) is true

What should be Total Fertility Rate (TFR) of a |

ian Constitution are related

RF

50. Wdﬁm%aﬁ:—ﬁa@aﬁamﬁdﬂ
(a) 3g=ag 38 10 (b) I 48/ 11
(c) ¥q=ae 54 11 (d) 3T=8¢ 68 1.

3 Frferfia A 4 HHE-E1/4 R

26 g%&;m 3k gfg 2T (3E)’ %Wfa;
foperr e/ Fepd I /8 7 ;

1. TRTH!

2. BT

3. WA

4. e

fia ol 13 %e | g IW AT |

%e oy
(a) Fae (b) et 3
(c) 13 2 (d) 1,2,3331'4_‘

52. i € wyq fed 7 8, 5 @ e @) Y (
GHL I HRO (R) FET 71 R :
A (A) @ vl usrHifos sgaeen 6 3
P e whads % aea qd wg §

F(R) : wireefta wefiferen svecen &
Wﬁ-m ﬂ?ﬁ, Rt I
Aeft & e wfea R 3
RARECRICE TR e e Hfru |
Fe: \.r I
(@) (A) 3fe (R) 2t it & ar (R), (a)!
(b) (A) 3t (R) 2l et & ey

A T oy
(©) () 5l & 9o (R) ot &
(d) (A) et R g (R) ) &

populaliol\hmwm.!hm;
level of fertility ?

@n

GAS

X
=
o IR T
e 8
x e
R
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i Whlch of the following methods has/have be
55 sed to estimate poverty in India ? =5
1 Head Count Ratio

2. Calorie intake
3. Household Consumption Expenditure
4 Pper Capita Income

gelect the correct answer from the codes given

below.

codes :

(a) 2and 3 (b) 1,2and 3
ey 3 only (d) 1,2,3and 4 ,

~ 55 The Supreme Court of India enunciated the doctrine
of “Basic Structure of the Constitution” in
(a) The Golaknath Case in 1967
The Keshavanand Bharati Case in 1973
(c) The Shankari Prasad Case in 1951
(d) The Sajjan Singh Case in 1965

With reference to ‘Ayushman Bharat Yojana' which
of the following statement(s) is/are correct ?
% 1. This Yojana provides free health insurance
of Rs. five lakh per person.
2. The expenses incurred in this Scheme
(Yojana) is shared between the Centre and
State in 60 : 40 ratio.

Select the correct answer from the codes given

57.

RFL -1

55. e H Tfiel % g v Pt # & He-w/E
fafert = s fopan <t w1 2/2 7
1. fo or fafa
2. el TE
3. uifeanfer 3o =1
4. vfa =afdq 3

i fedl A e | wA IW M |
F:

(a) 2 31T 3
(c) %ad 3

(b) 1,23 3
(d) 1,2,33M 4
56, WWE % HETS e ¥ HEEE A6 o
¥ fagra =i wee fmn

(a) Mes1Y dTg 1967 H

(b) FITEH= W a1 1973 |

(c) SRl FHTE 91E 1951

(d) "= g 9@ 1965

A R AT 6 weed # Prfefed @ @

F-T1/Y o G B/R ?

1. =g I wia safea oie e w9 1 g
e i SeH H @ |

2. 36 I A B Al & 8§ e il Tl oA
wfierd 60 : 40 % 3T | Bt 2 |

H fed T e B FA IW M |

(b) ae 2
(d) AW A& 2

57.

e
(a) a1
(c) 1 3 2 At

ﬁw%mﬁﬁm-m@www% ?
(a) IR 39 A wvm-@ﬁ '

(b) aﬁﬂk 40% b

58.

below.
Codes :
% (a) 1 only \,{{) 2 only
>‘(c) Both 1 and 2 (d) Neither 1 nor 2
' 58. Which one of the following is NOT correctly
matched ?
(a) Aticle 39A — Equal Justice and free
legal aid A
(b) Article 40 — Organisation of Village
Panchayats 8
() Atticle 44 = Uniform Civil Qod& LR
U Article 48 - Separation OF &¥ ciary
from Execu

(@) To increase the numt

(b) To manage mass
scale travel

2 To manage t
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60. Consider the following statements in the context
of Attorney General of India :
1. The Pr_esident shall appoint a person who
IS qualified as to be appointed a Judge of
Supreme Court.

2. The Attorney General shall receive such

remuneration as the Parliament may
determine.

Eeellc?\?vt. the correct answer using the codes given
Codes :
(@) Only 1 is correct
(b) Only 2 is correct
L_tey Both 1 and 2 are correct
(d) Neither 1 nor 2 is correct

@ With reference to the ‘HAUSLA - 2018" which of
the following statement(s) is/are correct ?

1. "HAUSLA - 2018’ was organised by the
Ministry of Women and Child Development,
Government of India in New Delhi.

2. It was National Festival for Children of Child
Care Institution.

Select the correct answer from the codes given
below.

Codes :

(a) 1 only (b) 2 only

(c) Both 1 and 2 (d) Neither 1 nor 2

Given below are two statements, one is labelled
as Assertion (A) and the other as Reason (R) :
Assertion (A) : Indian federalism is called ‘Quasi-
federal'.
Reason (R) : India has an independent judiciary
with power of Judicial Review.
Select the correct answer from the codes given
below.
Codes :
(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)
Both (A) and (R) are true but (R) is not the

correct explanation of (A)
(c) (A) is true but (R) is false
(d) (A) is false but (R) is true

62

63 India aims to achieve the 5 trillion dollar
economy by
(@) 2022 AT 2024
(c) 2026 (d) 2030

64 Joint sitting of Lok Sabha and Rajya Sabha can
take place to resolve deadlock over
Ordinary Legislation
(b) Money Bill  x ‘
(c) Constitutional Amendment Bill x
(d) Appropriation Bill

60.

61.

62.

63.

RFL -1

YR & HErEare) & g # fefafad F2h |
ﬁﬁma?r%m:
1, Tegufer ferelt Ua <afea i Fgfaa swtm
?W#W%wﬁﬁg@%w
B |
2. HET=ITEaTel ga-1 Ui iheh Yo shm A d49g
YT &t |

9 3 T gz @ T IR |

Fe
(a) haet 1 HE B

(b) a2 Wl &

(c) 1 3R 2 gt =t &

CIERIRE S X

Bl - 2018’ % Few § Frferfian f § HH-HI/A
m%g/g? SRS et T o1 s
P -2018' &1 ; |
4T HaTeT, WA HWhR g A feeet #
foram @ | }

2. e a=il 1 2E-Y@ FQ el FEAT & a=
<l 3Jcad 9T |

ik %< ¥ FEl I M |

He

(a) Sad (b) haet 2
(c) 1 3R 2 g+t (d) Fd 198 2

A1 3 e ol 8, ol A e e (A) T
g %1 HR (R) &1 T 2 :
U (A) : YRAT HETeHeh SAae] i ‘A -FeTehs
el FA R |

A2 fod e @ e se g |
Fe: _ 4
(a) (A) 3 (R) 31 =@t & 3 (R), (A) it 7
ST hidl B 3
(b) (A) 3 (R) 2T Wt & 7 (R), (A) 61 Tl
m:‘_ﬁm% T
(¢) (A) ¥ 2 9% (R) T 2
(d) (A) 7T R T (R) H &
R 5 feferer et srederaen 1
A ] A TR &
(a) 2022 1 :
(c) 2026

- oSl o
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RFL -1 |

Human Development Report 1997 introduced

the concept of Human Poverty Index (HPI) but e

e e geEehich (T3, ) I FGURT A
ferepra it 1997 # g <h1 TR, Aifep e feeprd

Human Development Report replaced it with \
Multidimensional Poverty Index (MPI) in the e 3 3@ agamm mlef geEHs (ww.4t.31m8. ) 710
year frfifaa o & fra ad # sfaeafi = fen ?
(a) 1999 (3) 2005 (a) 1999 (b) 2005
(c) 2010 (d) 2015 (c) 2010 (d) 2015
66, Which of the following gave legal basis to extra- | 66, ‘@ifergraa’ % SN WA ATHIT  ZrT ST
i owers exercised by t ‘ . AL ~
gﬁmgd%ring Lockdown ? y the Government wfaat @ fafus snur frefafad ;r%rﬁ fep sl
ontal Health Care Act, 2017 & 9 g3 ?
> Disaster Management Act, 2005 1. Heel By hat T, 2017
3 Enemy Property Act, 1968 2. fesmee fa=te wae, 2005
4 Epidemic Diseases Act, 1897 3, y-gwafy A g godf o, 1968
Select the correct answer from the codes given 4. ufefies fesfir Twe, 1897
below. 7 A ™ % ¥ 7 IW AT |
Codes : F2:
(@) 1,2and3 (b) 2,3 and 4 x (@) 1,23 3 (b) 2,3 3R 4
\/(,e)'Zand4 (d) 1,3and 4 x (c) 23 4 (d) 1,33 4

3 2 e R A 8, Rl & T A o (A) T

67.
T ! HA (R) FE R :

@ Given below are two statements, one is labelled
as Assertion (A) and other as Reason (R) :

iC

Assertion (A) : Government has launched the
‘National Infrastructure Pipeline (NIP)' for period
of 2020-30.

Reason (R) : The objective of NIP is to provide
equitable access to infrastructure for all.

Select the correct answer using the codes given

below.

Codes :

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)

(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)

(c) (A) is true but {R) is false

(d) (A) is false but (R) is true

68. Match List — | with List — Il and select the correct
answer using the codes given below the lists :
List -1 List -1l
(Article) (Provision)
A. Article 61 1. Removal of Deputy
Chairman of Rajya
Sabha
B. Article 67(b) ~2. Impeachment of
President
C. Atticle 94 3. Removal of Vice-
President
D. Article 90 4 Removal of Speaker
Codes :
A B c D
(@ 2 4 3 1 -
b 3 2 4 1
) 2 3 4 17
@ 4 "7 3 2

13-

68.

FUA (A) | UK T IIges (w.ams. 1.y

wgamzozoaoﬁm%%qm%m

TR |

FRUI(R) : @375 H. 1 387 @¥ft =1 I v

gfyuT ST O 2 |

e 3 ™ g @ v IR IR |

He: ,

(a) (A) @ (R) 31 @1 2 3R (R), (A) i &
ST FE R

(b) (A) T (R) A1 & & 9 (R), (A) T Tl
SR A8l il &

() (A) & & T (R) T &

(d) (A) 7o B TG (R) T 8
gt — | =1 g - 1| | gafra i qen g %
A3 R W g ¥ wd IR I ;
g -1 TR -l
(373%3q) (STaHT)
A. 3TTT3E 61 1. T=9 @1 & Y-
! BHT
B. {=9¢ 67(@W) 2. Trsgufel W HgIiwm
C. 3TT=8% 94 3. ITURT Y &M
D. J14=8¢ 90 4, TR Y e
%c:
A B c D
(a) 2 4 3 1
(b) 3 2 4 1
(c) 2 3 -*4 1
d) 4 1 Gor , 2 2
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With reference to the World Bank’s Ease of
Doing Busnne_ss Report, which of the following
statement(s) is/are correct ?
1. In Ease of Doing Business Report 2020
India's rank is 63. '
2. India ranking for Ea i i ;
the year 20199 o 735 of Doing Business in
S;I;(;t the correct answer using the codes given
Codes :
(@) 1 only (b) 2 onl
y
(c) Both1and 2 (d) Neither 1 nor 2
70. On which of the following dates, Consti
- ) stituent
Assembly of India adopted the National Flag ?
(a) 22 January, 1950
_U(bY 24 January, 1950
(c) 22 July, 1947
(d) 22 July, 1948
a Limit of investment for outstanding corporate bond
for Foreign Portfolio Investment in Union Budget
2020-21 has been extended upto
(a) 9% (b) 10%
(c) 12% (d) 15%
72. Inwhich of the following places the Bio-technology
Park is located in Uttar Pradesh ?
(a) Kanpur (b) Ghaziabad
NOIDA (d) Lucknow
73.  Match List — | with List = Il and select the correct
answer from the codes given below the lists :
List -1 List -1l
(Scheme) (Launching Year)
A. P. M. Jan Arogya Abhiyan 1. 2015
B. P. M. Vaya Vandan Yojana 2. 2018:
C. P. M. Rojgar Protsahan 3. 2017
Yojana '
D. Swachh Bharat Abhiyan @
Codes :
A B Cc D
o 2 3 1 4
IS
2
@ 2 4 3 1
The Development, Monitoring and Evaluation
Office, which monitors the progress of long term
policies in an attached office under
(a) Prime Minister Office. )
(b) Ministry of Home Affairs
(c) Cabinet Secretariat
L) NITI Aayogd
G -14-

s

69.

70.

71.

72

73.

74.

N

RFL -
fiva &6 61 4 % i g fOd ¥ =
NSRRI SR

1. $91 317 g3 faera fdié 2020 % wra 1
63791 T 2 |

2. 94 2019 % §1 377 331 foorg & wma &
779 T 1 |

= fed ™ e @ wd 3w g |
72
(a) ket 1 (b) et 2

(c) 1 3R 2 g COELEES Y

I < wfe | Y Frerffae o @ fea e ®
TR & Y AT ?

(a) 22 =&, 1950

(b) 24%31%, 1950

(c) 22 , 1947

(d) 22 918, 1948

= T 2020-21 % GRT P HINE IS T

fesht TewiRmt R e & eIl
(a) 9% T (b) 10% T
(c) 12% T (d) 15%

muﬁmﬁa@—%ﬁaﬁﬁﬁﬁnﬁ“@awﬁiﬁ
Qg @R ?

(a) AR (b) TisETETE
(c) et (d) TETH
— 1 g — |1 B ghfa A a 1%
q(;f;;l g -1l
) (ST )
A fom 59 I Al - 1. 2015
B. 1.Un, 59 ¥ FIoHT 2. 2018
C. 9.uq. UK Wiedmes e 3. 2017
D. =5 Wa AREm 4. 2014
%e
- A B C D
@ 2 3 1 4
® 1 2 3 4
© 2 3 4 1
d 2 4 3 A1

. )
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o
\hich oné of the following is NOT a
75. gas found naturally in the atmOSphereq?reen L

Nitrogen oxide (b) Carbon dioxide
© Methane (d) Ozone

ich of the following statements is NOT correct

’ .

@ for National Pension Scheme for Retail Tra

ghopkeepers and Self-employed persons gers/
Those who are in age groups of 18 to 40

@ years are eligible.
(b) Their annual turnover should not exceed
1.5 crore rupees.
\/M National Pension Scheme’s member are
also eligible. e
d) Ithas a monthly minimum assured i
) of Rs. 3000.00. pension

@ with reference to the programme “NIDHI" which
of the following statement(s) is/are correct ?

1. The programme of “NIDHI" was started for
students to begin start ups.

2. Its aim is to financially support 20 students
for start up in each year.

Select the correct answer from the codes given

below.

Codes :

(a) 1 only

(c) Both 1 and 2

(b) 2 only
(d) Neither 1 nor 2

78. Generally, environment can be classified as
following categories. Which among the following
is NOT a part of such category ?

|t&) Operational Environment
(b) Physical Environment
(c) Cultural Environment
(d) Biological Environment

Given below are two statements, on€ is labelled
as Assertion (A) and other as Reason (R) :
Assertion (A) : The Union Budget 2020-21
has focused on Rural Development with aim of
doubling farmer income.

Reason (R) : The 16 Action poi

In the budget is centred aroun

Irrigation and rural development. '

Sellem the correct answer from the codes giver

elow.

COdes :

(3) Both (A) and (R) are tru
correct explanation of (

(b) Both (A) and (R) are true
correct explanation of (A)

(¢) (A) i true but (R) is false

(d) (A) is false but (R) is true

nts announced
d agriculture,

e and (R) isthe
but (R) is not the

75.

76.

77.

78.

79.

RFL -1

frerfrfigd 1 @ F-a1 Uk TrpfaF w1 H AFAST
7 uré i areh ¥ geE E TE 2 7

(a) ATgEISH STFH1ES (b) A STEATTEES
(c) faer (d)
Pt 7 @ - o gy S /A
3N TRITTET Sl ¥ o T g A

Fan i ad A 2 7

(a) 184 40 ad a:rgaﬁ%ﬁa’mgaa;qm%'l

(b) a1 difdeh TA-¢ (ﬁaﬂm)m1.5$ﬁ‘$
T s T8 |

(c)vgﬁaﬁsﬂam%smsu%m%l

(d) 3G 3F=aTd &9 3000.00 =T HTH T
ghfead 2 |

"ﬁr&"ﬁw%mﬁﬁmﬁﬁﬁq—m/ém

ad 3/e ? _

1ﬁf$ref%qm%s%qwém%§m

e T 2
2.%@@20@%%@@@4%@:@3&

firfar wEE@ FER |
3 ol T g @ wA IR |

Fe:
@ Fad 1 (b) ad 2
(c) 1 3 2 gHl (d) FA1TR2
mmwwhtmaﬁﬁmwﬁarﬁrﬁmm
aw%mx:x%rﬁaﬁﬁﬁﬁq@m@gaawﬁmw

=1 3w TR ?

(a)qﬂv—mquaw

(b) ¥iferes waferT

(C)g:gizﬁmhw

(d) gLl

3 21 e T T E, R @ T Rl U (A) T
z@ia?rW(R)argrrrm%;

o (A) : 1 e 2020-21 1 FiY Y 31
forar T B |

%ol (R) : 9r¢ 7 Hifvd 16 iy i, =

e Tsfor T < =gieE 721
ﬁﬁaﬂﬁ@ﬂa@mwwﬁﬁm J
He e

(a) (A) @ (R) 2 @1 § 741 (R), (A) it T
(b) (A) 71 (R) &1 & & 7 (R). (A)H T&@
m:rg‘fm(% y

A) g =g (R) TeId
égggA;m%m@(R)w%
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80) The concept of ‘Ecological Transition' was first

‘used by
(a) Elton (b) Bennett
fc) Berkeley (d) Ratzel

81. The Travel and Tourism Competitive Index (TTCI)
is released by ‘

(a) World Bank
(b) International Monetary Fund

4_Aey"World Economic Forum
(d) United Nations Development Programme

82. Which of the following are the impacts of Global
Warming ?

1. Rise in sea level

2. Melting of glaciers -

3. Spread of diseases .—

4. Bleaching of Coral reefs .-

Select the correct answer using the codes given
below.

Codes :
(@) 1,2and 3 only » (b) 2and 3only x
(c) 1,3and 4 only x (d)yT, 2, 3 and 4

83. Consider the following events and arrange them
in chronological order :

1. Establishment of NABARD

2. Self Help Group Bank Linkage Programme
3. Kisan Credit Card Plan

4. Establishment of Regional Rural Bank
Select the correct answer from the codes given

below.
Codes :
(@) 4,1,2,3 X (b) 4,2,3, 1
(c)1,23,4 ey, 3,2, 1

84. Arrange the following events in chronological
order and select the correct answer from the
codes given below :

|. Rio Earth Summit

II. Publication of Brundtland Commission Report
lll. Enforcement of Montreal Protocol
IV. Publication of ‘The Limit to Growth’ Report

Codes :
@ LIV x (VL
(© W, it 1,1 (d) IV, 11,11 X

C 16-

80.

81.

82.

83.

84.

Y

RFL -

yrfteafaeh @shmor sEumen &1 gduay v fey

1 ,
(a) Teed g (b) & 7T
(c) Tt g (d) & g

ST W 2w R frarenes gt (.94, 57,
mﬂﬁmfggé S )
(a) foga &% gm

(b) IF=ieda mzm Rt gra

(c) Twa anf¥fes 7= gro

(d) wg=a Teg ferepra wrlsEn Zro

Frrieran 3 4 FR-m1 Afees Ayl (ee i)
HIUNE g ?

1. 995 ST a1 g

2. ferdt =1 Rraemn

3. St =1 Ser

4. yare T =1 foiem g

& I & I = el 1 5z | i |
we

(@) ot 1,233 (b) Hawd 23 3

(c) e 1,334 (d) 1,2, 33 4

Frafafee wemant w fmm Hifvm it =2
HICTHHATTAR AR Hife

1. TETE S T ‘

2. T HE™AT 9Yg 1 4 fhe SRl
3. Terea hfge w1E Tiem

4. &= amfior S < s

9 2 ™ g2 ¥ vt I ghn |

we:

(@) 4,1,2.3
1,234

(b) 4,2,3,1
(d) 4,3,2,1

*ﬁmwm*%ﬁ@“ﬁﬁz%aamn%%qu |
|. e geaft e e

II. sTetvg 3 A 1 yehme

1. AT SWErRTe #1 Y

IV. g feifire g oiver Redé 1 wremrem

T
@1, v, 1,1

(b IV, 11, 1, 1
© IV, I, 1, |

(d) IV, I, 10, 1
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reference to the Skill India Campalgn which
of the following statement(s) is/are correct ?
4. prime Minister had launched the Skill India
Campa|gn in July 2015.
The main objective of this Campaign

was t0 train India’s Youths in information
techI’lOIon

gelect the correct answer from the codes given

below.
Codes :
) 1 only
(c) Both 1and 2

(b) 2 only
(d) Neither 1 nor 2

The National Chambal Sanctuary does NOT fall

86.
in which of the following States ?
(a) Uttar Pradesh (b) Madhya Pradesh
A€) Haryana (d) Rajasthan

g7. The rulers of which of the following dynasty have
been called as ‘Shriparvatiya’ in Puranas ?
(a) Vakatakas (b) Ikshvakus
l/(r/)Shaks (d) Kharvelas

88. National Clean Air Programme has been launched
by the Central Government in the year

(a) 2018 T 2017

(c) 2020 (d) 2019

) The official ‘Agronomai’ during Mauryan age was
related with which of the following field ?

(a) Weight and measurement
(b) Administrative management
(c) Construction of roads

(d) Revenue management

mittees recommended

%0. Which of the following Com
ritional requirements

apoverty line based on nut

exclusively ?

(a) Alagh Committee

(b) Lakdawala Committee
\A€} Tendulkar Committee

(d) Rangarajan Committee

C

RFL-I

85, e W S 35wt 3 R # A #A-E/H
YT WE 2/ 1
1, Fheret W SR s ure 4
s 2015 W A oft |
2. waﬁmwg@@wm%ﬁaﬁﬁ
gl aote o gfif e e |
13 fo2 e @ v g

FC:
(a) had 1
(c) 13 22

(B)éﬁaz
(d FdAA1TAR2
86. mmwﬁmﬂﬁﬁmmm
fem @i 2 ?
(b) TET T

(a) ST Te
(c) gia@mm (d) TSeIH

87. ﬁnﬁmﬁamw%mﬁg{wﬁﬁ
sfiqeidir a1 TR 7 ’ '
(a) ATHIEH (b) &P
(c) T (d) T@raEw

88. n@ammwaﬁmmmvﬁﬁ
wres o T @ 7
(a) 2018
(c) 2020

(b) 2017
(d) 2019

g9 1N wr A ‘wiawg e Prafafea 4 @
&7 § gf| o 7 i
a) W9 3R A
(b) SHITEH SE-
(c) wrt o
(d) Trea WE=eA

90. ﬁn%mmzﬁﬁ@mﬁmm-aa’iﬁ
aﬁm%ﬁmq{m‘t@aﬂﬁuﬁmm%?

(a) e afifd
(b)z«m,amvrhfa
(c) et it

(d) T wfuf

AR
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91 MatchList—Iwith List— Il and select the correct | 91, &= — | &1 g=ft — |1 ¥ gAfera iR e g %

answer using the codes given below the lists - f9 i@ ™ e & v IW R
List -1 List - 11 gt - | Hjﬂ— Il
(Mahajanpadas) (Capitals) (WETg) (Trar)
A. Matsya + 1. Mathura A 7= 1. 740
B. Kuru ‘ 52. Potan B. 375 2. ’Cﬁ?ﬂ’
C Sursena ™~ ™ 3. Virat Nagar C. & 3. farrem
D Asmak 4. Indraprastha D. 3”AH 4. FHIH
Codes : Fe:
A B Cc D A B C D
&,451/42 1 3 (@ 4 2 A 3
)3 1 4 2 ) 3 1 4 2
V&ej’o 4 1 2 () 3 4 1 2
@2 3 4 1 d 2 3 4 1
82 Which of the following indicators is NOT used to | 92. fr=ifrfaq HAHIHI § A HA-F T e gEhish
calculate Human Development Index (HDI) ? (w.d.am8.) 6 v 3 wfifem =@ foman sman 27
(a) Life Expectancy  (b) Education (a) Sfaa e (b) fiam
(c) Per Capita Income (dy~Social Inequality (c) wfa =fdq ama (d) Trifster rEHTEd
€3 Given below are two statements, one is labelled | 93. 99 Q wem fA M, il o ® wE (A) T
as Assertion (A) and the other as Reason (R) qm &1 w0 (R) &&1 a1 2
Assertion (A) - We have much more information e (A) : EH e & fawg § I qeadt aaEw
about Cholas than their predecessors. 6 aman wfie SR
Reason (R) The Chola rulers adopted the HTOT(R) : =let a3 wRl 6 damd 9 sfee
practice of having inscriptions written on the walls 36 w0 w1 ey e Rl 3ah fasat
of temples giving a historical narrative of their * Ufawifas faam fod s Q)
victories 2 a2 3 A wd 39w T i)
Select the correct answer from the codes given Tz
below. i .
Codes : (a) (A) 3 (R) 2l 7 & 3kt (R), (A) 61wl
uﬁ')/EecS:h (A) and (R) are true and (R) is the ST Tl
correct explanation of (A) () (A) 3t (R) 2t w1t § uig (R), (A) ) wd
(b) Both (A) and (R) are true but (R) is not the e T R
correct explanation of (A) ¢) (A) T
(€) (A) is true but (R) is false {e) (A) %W(R)W%
(d) (A) is false but (R) is true (d) (A) e & g (R) Wt R
@ The idea of ‘Cultural Poverty’ was given by 94 il ) HF{?[%I @1 ferem WA fowm
()a)/(}scar Lewis (b) Gunnar Myrdal (a) rERy Fﬁﬂ L (b) TER s g
(c) Aashish Bose (d) Amartya Sen (c) Im¥fiw & gro (d) st 8= g |
55 Which of the following Indian Archaeologists first | 95. freafafan & ¥ fvg sl qUaeaT 3 g
visted Bhimbetka Caves' and discovered prehistoric I dEE T ® A ok ges def
sgnificance of its rock paintings ? Qlilfaﬂﬂw HEed Y @ ?
{487 Madho Swaroop Vatsa (a) Wi AARES
() HD Sankalia (b) wa. ). gwifern j
(c) VS Wakankar (c) d.ug, arw
(d) VN Mishra (d) W.um, fon
C -18-
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o id 80's decade of twenti

puring the M! entieth centu
96. he negative aspects of development Werr)g

discuSSEd at large. Which one among the

following was NOT such important ?

2) pegradation of natural resources
qvironment pollution

© politics and Development

(d) Displacement and Rehabilitation of masses

Match List = | with List — Il and select the correct

o answer using the codes given below the lists -
List | List - 11
(Harappan Site) (UT/State of India)
A. Balu 1. Uttar Pradesh
B. Manda 2. Jammu and Kashmir
C. Padri 3. Haryana
D. Hulas 4. Gujarat
Codes :
A B C D
b) 2 3 4 1
2 4 3 1
(d) 3 2 4 1

98. No. of cities in U.P. which are covered under the
‘Smart City' Scheme

fay10
(c) 15

(b) 12
(d) 18
Consider the following statements and selectthe
correct answer using the codes given below :

1. The Sun temple of Multan is mentioned
by Hiuen Tsang, Abuzaiyid, Al-Masudi and
Alberuni.

2. The pilgrimage to Sambapur was
associated with Sun worship.

Codes : '

(a) Only 1 is correct

(b) Only 2 is correct

(c) Both 1 and 2 are correct
(d) Neither 1 nor 2 is correct

velopment was
n environment
report was

100.  The discussion on 'Sustainable De

started after submitting @ report 0
to the United Nation in 1987. That

(a) First Report on Climate Chang®
Our Common Future

(¢) Second Report on Climate Change

(d) Fifth Assessment Report

96.

97.

98.

99.

100.

A49-

RFL -1

et o1 forean & == <h el | Praferfiaa @ 8 wE-w
Th I8 wgeaqyl E 417

(a) TTpfees FEIUH] 1 &

(b) TATEEr FEww

(c) THifa wa famra

(d) SraTT= 1 Rreum Td gAarE
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ﬁﬁa@@ﬁﬁmﬂﬁ'{:
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(Fewnguee) (69 TSHEE/ WA 6 T)
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C. el
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(a)
(b)
(c)
(d)
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(a) 10 (b) 12
(c) 15 (d) 18
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101.

102.

Who of the following was sent as representative of
labourers by Indian Government in the Washington
Summit of .L.O. in the year 1919 ?

(@) V.P. Wadia ¢_(bY" N.M. Joshi

(c) C.F. Andrews (d) Joseph Baptista

The Atal Innovation Mission (AIM) is

a flagship
initiative set up by

{2 Ministry of Human Resource Development

103.

\ e/ Both 1and 2

104.

\/(Q’Rachel Carson

|

.

A2

C

(b) NITI Aayog
(¢) Ministry of Social Justice and Impowerment
(d) Ministry of Science and Technology

With reference to the Treaty of “Aix-la-Chapelle

— 1748 which of the following statements is/are
correct ?

1. The | Carnatic War was ended.
2. The English got back Madras.

Select the correct answer using the codes given
below.
Codes :
(a).1 only (b) 2 only

(d) Neither 1 nor 2

The book ‘Silent Spring’ published in 1962 which
set the tone for an environmental movement in
the world, was written by

(a) Carolyn Merchant (b) Karl Marx

(d) Rajgopalan

Match List — | with List ~ Il and select the correct
answer using the codes given below the lists :

List - | List-=1l

A. Indian Arm Act 1. 1876

B. Royal Title Act 2. 1878
C. Indian High Court;\;%g‘ 3. 1869
D. Indian Divorce Act 4. 1861

Codes :

A
(@ 2
(b) 3
©) 1

- N =~"w W

BE WM QO
(SR O O O o |
\

101.

102.

103.

104.

105.

-20-

RFL <

NI TR Z0 1919 # 13.TA.30, % arfime

arler o w1 wfafify % = 4 frefafe §
CRCTRIE IR )

(a) .. arfem (b) w.wH. Sirft

() #huw. wew  (d) HEE Afere

e Ta-g firge (u.318.un. ) fepa foam 1 wga
T @ 7

(a) AFE TEYA e gare™

(b) Hife amim

(c) Tmifie =g wd siferiiar ey

(d) fasm & qefishl e

“UFg-AT-WAA - 1748" 1 @ty F dwed d
frefafa et & w-m/a wd 2/E 7

1. W SHAlesh gg I GHI |

2. U I TG GH: W g3 |

T @ ™ % A @ s g |

%

(a) o (b) Faat 2

(c) 13 23Hi CENRER )

T 1962 # YR Tede |see [T Rl R
& e STder = TRy fieh, % o

(a) e Tee (b) et AT
(c) =9 HTEH (d) TeTaTEN
T — | % g~ 1 X gifre i qen gfe ¥
ﬁﬁﬁﬁﬂﬁ@émﬁmgﬁq;

- | i
A. Wi we sifrfem 1. 1876
B. Wt 7 arfurfam © 2. 1878
C. YRR =9 =IRTery 3. 1869
D. Wit forae fored afufem 4 1861
w2

A B ¢ p
@ 2 3 1 4
by 3 1 2 4
© 1 2 3 34
@ 2 1 4 3
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- oneamong the followingis N
106. mg;rr;ted Child Developmenst’ Prog(g)r:r?rxzrs?d =
@ supplementary Nutrition [~
(0) Immunization —
o) nutrition and Health Education

\/Ld'T Family Planning

107. Who had merged Sikkim in India ?
Lord Hastings
(b) Lord William Bentinck
ord Dalhousie

&gjl-_ord Auckland

08, Match List—1with List - Il and select the correct

.1
answer using the codes given below the lists:

List -1 List—1l

A. Indus Valley 1. Pastoral
Civilization ~

B. Later Vedic 2. Land Lordism
Society :

~ 3. Agrarian
4. Urban

G. Rigvedic Society/\
D. Medieval Period -

Codes :
A B C D
(a)4 2 3 1
(b) 2 1 4 3
)3 4 1 2 S
Ja4 3012

109. Who among the following leaders did NOT
participated in the Second Round Table
Conference ?

(a) M.K. Gandhi

(b) Sarojini Naidu

(c) Pt. Madan Mohan Malviya
LY Dr. Rajendra Prasad

esof U.P. pecame million

0. Kanpurand Lucknow Citi
of India in the year

cities as per the census
(a) 1951 and 1961 respectively
(b) 1961 and 1971 respectively
¢ 1971 and 1981 respectively
(d) 1981 and 1991 respectively

-21-

1086.

107.

108.

109.

110.

RFL -1

qufRE are R qidis % s Frefafad
# } R-71 v wftfera 7 8 7

(a) T e

(HE4EIERYl

(c) drur wd ez fen

(d) gfEr feH

fufpn @1 v o frer foraa fopam 2
(a) g e

(b) =TS Taferam =fés

(c) @S TSB!

(d) TS IHATS

= -1 _ 11 @ ghferm Hiferg e g %
:ﬁ%ﬁﬁﬁ?%?@mgﬁq
g - | gt -l
A. Ty ardl wwIar 1. IRITE
B. It afcsh gHN 2. siferd
C. Tafcsd gt 3. F9h
D. A I 4, T
E T

A B C D

@4 2 3 1

2 1 4 3

©3 4 1 2

@4 3 1 2

ﬁmﬁfﬁaﬁﬁmaﬁﬁﬂﬁqﬁ?ﬂmﬁaﬁﬁmﬁ
yT e form or 7

(a) W.%. Teh

(b) FARF T

(c) fed wE HiEd Hiew

(d) &, To= TG

S T F AR I TS AR PR A
o a3 gE et T ?

(a) HI: 1951 aftt 1961 ®

(by T 1961 3T 1971 H

(c) ;1971 31 19817

(d) T 1981 i 1991
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111, Match List - | with List— Il and select the correct | 111, =t — | @1 g=ft - 11 & gafera Hifere aar g &
answer using the codes given below the lists : i faam % q wE I AT
List - | List - II - | g - Il
(Book) (Writer) (qTh) (@)
A. The Story of My 1. Surendranath A. T @ a1 1. gty sl
Deportation Banerjee e
B. Gita Rahasya 2. Maulana Abul -
WA 3G FA™
o Kalam Azad B. i & =
C. ANationin Making '\ 3. Lala Lajpat Rai . G
D. India Wins Freedom 4. Bal Gangadhar C. Qﬁef‘ﬂ? il afehm 3. e _E'”G’q“ ™ -
- - Tilak D. 3fvgen fdm ren 4. =17 R fadw
Codes : Fe: E
A B C D A B C D
L3 4 1 2 (@ 3 4 1 2
(b) 4 2 1 3 (b) 4 2 1 3
© 2 4 1 3~ © 2 4 1 3
@4 3 2 1655 @ 4 3 2 1
112. Match List — | with List— Il and select the correct | 112, et - | 1 = - 11 @ gafera Aifve @ gieEi +
answer using the codes given below the lists : = fed T g2 @ wd s ghn
List -1 List - I W-l. 'q:*lh—ll
A. Jajmani 1. North India A. o 1. I UG
B. Bara Balute 2. Karnataka 8. 9T T 2 TR
C. Mirasi 3. Maharashtra c. fafy 3. TR
D. Adade - 4. Tamil Nadu D. 3= 4 Hﬁ‘?ﬂ'@
Codes : .
Leri 2 3 4. @1 2 3 4
)1 3 2 4 M1 3 2 4
©1 4 2 3 ©1_ 4 2 3
d1 3 4 2 (1 3 4 2
113. Who among the following established a modem | 113. fr=fafas # & ®7 1755 § ffymer L A
armoury in Dindigal Mysore in 1755 ? ' Y[ AR hY T 6y off 2
(a) Nanjraj (a) o=
\_{b) Haider Ali (b) BT areht
(c) Devraj (c) St
(d) Chikka Krishnaraj (d) Foh1 Fom
@ The concept of ‘Marginal Man’ was propounded by | 114. @y “Hiar sy (i A & Gerea #
(a) RobertE. Park  (b) Robert Redfield T T ) '
a) Robert E. Par ,{ } :
O o (a) T 3. Urh (b) T Fehies
(c) Louis Wirth (d) Louis Dumont (c) g8 I (d) o gmuzl
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i

-on below are two statement i
5 jven P& S, one is labelled
19 ASse'_'t'On (A) arld the other as Reason (R) :
Assertlodn d('?f) : The British Government
introduced different land revenue system |
d‘lfferent part of India. In
Reason (R) : It led to create differ ;
[ndian peasantry. ent classes in
gelect the correct answer from the codes given
pelow.
odes :
Both (A) and (R) are true and (R) is the
correct explanation of (A)
(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)
(c) (A)is true but (R) is false
(d) (A)is false but (R) is true
416. Whichone of the following is NOT a major cause
of Wildlife Extinction ?
(a) Loss of natural habitat
(b) To make fire in the forest
(c) legal commercial trade of wildlife
ud')/F\ ast pace of population growth
117. Consider the following text and arrange them in
chronological order :
1. Fatawa-i- Jahandari «
2. Prithviraja-Raso -
3. Kitab-ul-Hind
4. Tabaqat-i-Nasiri
Select the correct answer from the codes given
below.
Codes :
LAa] 2, 3, 4,1 (b) 3,1,2,4
() 4,3,1,2 (d) 3,2,4,1
118. In August, 2020 Railway Museum in India was
dedicated to the nation at which of the following
places ?
(a) Hubballi Lftfva_SOfe ,
(c) Silvasa (d)_Chittaranjan
119 Who was the ruler of Golkor)da when Aurangzeb
seized the fort of Golkonda in 168
(a) Abul Hasan Qutb Shah
(46T Sikandar Adil Shah
(c) Ali Adil Shah Il
(d) Shayasta Khan

C

115.

116.

117.

118.

119.

.23-

RFL -1

3wy B T E, Rl e A F (A) I

&R I HW (R) FET R

W(A):ﬁ%wmﬁm%ﬁm—mwﬁ

i v-Trorea 1 7eT- e aed 9 Al |

E{W(R):gﬂ@uﬂeﬁumﬁm—maﬁm
0

I & T e # @ @ I I

e

(a) (A) 30 (R) At i & 3l (R), (A) 1 &R
STET T 8

(b) (A) 3 (R) 21 w8 & 76 (R), (A)F &
AT T T B

(©) (A) ¥ & W (R) T &

(d) (A) e 2 W (R) FE R

SR 3 § FH-a1 T auTir o g
1 Y@ HRY TE & 7
(a)wﬁﬁmww:@m

(b) SATEl o TR T &

(c) arRrl 1 3Ty =TS ST

(d) St 1 A e

Prferfag Tl Rrem iR i SR HEERHAIZTER
srafeud Hifg

1. HaaT-U-STarert

2. JeER- T

3. frame-3a-fa=

4. FEHd- -

2RI T F2 @ w@ IR AT

T

(@) 2,3,4,1
) 4,3,1,2

wid § 37T, 2020 # Freforfiaa el # | &l
w Yo SR TS h qEtda R T ?

(a) gl (b) AHL

(c) Feaman (d) foatH

1687 f 9 shimeE ¥ Tiergver R W SARHR
R, 38 G TIEUET I TS P A T
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120. Which among the following became the first Arab
Nation to launch the Mars Mission in July, 2020 ?
(a) Saudi Arabia
(b) Kuwait
ey United Arab Emirates
(d) Qatar
121. Which of the following statement/s is/are correct ?
1. Akbar tried to fix the age of marriage for
boys and girls.
2. Akbar gave freedom to girls to marry at their
own will and not under parental pressure.
Select the correct answer usmg the codes given
below.
Codes :
uaf)/;nlw (b) Only 2
(c) Both 1and 2 (d) Neither 1 nor 2
122. Which of the following neighbouring countries of
India has banned free internet for social media
in July, 2020 ?
(a) Nepal (b) Bhutan
Lie) Myanmar (d) Bangladesh
@ Match List — | with List = Il and select the correct
\ answer using the codes given below the lists :
List -1 List—1I
(Officer) (Assign Duty)
A. Diwan-i-Tan 1. Look after the office
B. Mustarfi 2. Maintained a proper
list of main events
and and firmans
C. Mushrif 3. Look after the Jagir
and Salaries
D. Vakianvis 4. Examine the income-
: expenditure of State
Codes :
A B C D
(@) 4 1 3
) 3 4 1 2
€0 1 3 2 4
(d) 4 1 2 3
C

120.

121.

122.

123.

-24.

RFL ~|

s, 2020 7 Preeram # @ - st frem
1 YAV FH 1Al ggeN I Ueg gAT 7

(a) TG &

(b) e
(c) HgFd 31E 3

(d) e

frafifaa we 4 A w-a1/d wd 2/2 ?
1. 3rRe Y Tl 3 wrefRdl ¥ foamg & I
fruifa 0 +1 y9@ fear a1 |

2. 37FaT X TigRRal 1 STiraTa % gad d e
w7 i 5oo1 A farg O 1w 4 Al |
9 3 T ey o EE IR AT

e
(b) had 2

(a) Fae 1
(c) 137 2 M (d) A 178 2

Wi < e vt o 7 & fvem 9T, 2020
i A fifem % fow gw seee 391 W wfiey
TR ?
(a) ure
(c) =R

(b) M=
(d) ST

H@"f-lﬁwﬁﬁ_nﬁgﬂﬁa@ﬁqsﬂx@qﬁ%

A= 3 T %2 A W I B g
- | Tt - 11 |
(artramrdy) (R wdem)
A TER-T-T 1. hrafer @ @i S R
B. g 2. YH@ W3l T S @
C. qufitw 3. IR 9 Je Y 2
D.ama‘ 4. U9 6 -2 5
F:
A B c D
(@ 2 4 1 3
® 3 4 1
() 1 3 2 4
(d) 4 1 2 3
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) Which of the following statement/s about ‘India

|deas Summit, 2020’ is/are correct ? h

1. ltwas organised by US - India Business
Council virtually on 221 jyly, 2020.

2. The theme of the Summit was ‘Empowering

India’.
i, © Select the correct answer from the codes given
below.
Codes :
3 (a) 1only (b) 2 only

(c) Both 1and 2 (d) Neither 1 nor2

(a) Shaikh Moinuddin Chishti —  Ajmer
(b) Shaikh Burhanuddin
Gharib = Daulatabad
(c) Shaikh Mohammad
Hussaini - Gulbarga
L/(d)‘ Shaikh Nizamuddin
Auliya - Multan

126. The Uttar Pradesh Cabinet has approved on 29th
July, 2020 to establish a National Law University at
- which of the following cities ?

(a) Kanpur (b) Lucknow

Morakhpur \_AdT" Prayagraj

127.  Which of the following Mughal period canals, was
constructed by restoring the Rajabwah of Firuz

Shah ?
(a) Shekhnu-Ni  .~{5) Shahab Nahr
(d) Nahr-i-Agra

(c) Nahr-i-Bihisht
Indian Minister of Youth Affairs and Sports
announced on 25! July, 2020 that in 2021 fourth
‘Khelo India Youth Games’ will be hosted by
{2y Haryana (b) Uttar Pradesh

(c) Karnataka (d) Maharashtra

L 129 Who among the following was the author of the
a book ‘Kitab-i-Nauras' ?

lbrahim Adil Shah II
(b) Ali Adil Shah

(¢) Quli Qutab Shah
(d). Akbar I

125, Which of the following is NOT correctly matched ?

RFL -1

124, 3fogan smsfean afie, 2020 % gy i frafiRaa
o /el | A wE-w/8 7 3/E 7
1. 30 IMANHT-RA SHTIR IiEe gRT aer:
22 T8, 2020 i At ferar ma
2. 3% fqwg (fi9) "R <1 geifeasnr o)

= A ™ 52 @ v swgh |

He

(a) shed .(b) wad 2

(c) 1 T8 25t @ AN1782

125, TfaRed & & S-w adt gafea =i 2 7

(a) @ g Fuwdh - 3
(b) ¥ g T - e
(c) IrE AT it ~ T
() ¥ PR St - e

126, T wRe TS 3 20 qE, 2020 ) Frefeifan
T # | e uy Rty fRvaferem 6 s

T A fRm B 2
(a)?ﬂg’( (b) @1
(c) TRER (d) PR

127. Fwafafes # @ fora grer ela 95 & fwin
TS g &t Uoterae gt o fe T
(a) AEA (b) TET™ &
(c) Tet-u-fafgea (d) TE-T-3T

128. WA % I HHA i @ 1 3 25 9w, 2020
1 b T 3 fo6 ad 2021 F <her @e e
U T H A" frar SR
(a) gheEmon g (b) I W g
(c) FTesh g (d) wEwrSE BRI

129, Tfafed § § w1 R -u-Hvw 0% 75w &
qAEF o7 7
(a) Ssiew anfea wmg T
(b) et i wmg
(o) Tt Tga W
(d) 3THR

.vi. c '25'
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130. Which of the following Indian Football Club

@.

@.

133.

134.

135.

136.

}ecame country’s first ever football club to feature

on NASDAQ billboards in New York's Time Square
on 291 July, 2020 ?

(a) East Bengal

(b) Churchill Brothers

ey Mohan Bagan

(d) Bengaluru Football Club

In which of the following districts of U.P. a major
solar power plant was established in collaboration
with France in 2018 ?
(a) Agra

V(c) Deoria

(b) Ballia
(d) Mirzapur

The first ‘Kisan Rail’ of India started its journey on
8th August, 2020 between which of the following
two stations ?
(a) Ghaziabad and Howrah
(b) Devlali (Maharashtra) and Danapur (Bihar)
(c) Nasik and New Delhi

)

(d) Nasik and Ahmedabad

How many more ‘Ramsar Sites’ were added to
Uttar Pradesh in January, 2020 ?

(@3 16

()9 (d) 12

Which of the following is NOT correctly matched ?

(Summit) (Place)
ast Asia Summit, 2020 - Singapore
(b) G-20 Summit, 2019 - Osaka
(c) G-7 Summit, 2019 - Biarritz
(d) East Asia Summit, 2019 - Bangkok

Which of the following tribes is NOT the native to the
Andaman and Nicobar Islands of India ?

(a) Halchu (b) Rengma

(c) Onge (d) Shompen

In which of the following States of India the
first-ever E-Lok Adalat was started during the

COVID-19 period 7
(a) Uttar Pradesh (b) Maharashtra

(c) Chhattisgarh (d) Bihar

130.

131.

132.

133.

134.

135.

136.

-26-

RFL\'

rRiftad T A SF-H1 WRdIT $eAT I, A
%mWWW(NASDAQ)%m
T 299, 2020 P SHIE WA B AT ey
eaTe g a1 7

(a) $& =T

(b) wf¥fer wed

(c) HigT amTH

(d) ST BeATe FT

SR 2w ¥ Pl fret i @ frei 20188 %iw
¥ T A b geg @R Il I H wd
IR ?

(a) TR (b) =feran

(c) zafen (d) Pt

e 61 vgelt ‘fha W Frerfafad o & weE
¥ o 8 37T, 2020 W AT AT IREW H ?
(a) TivETETE 3R gTESl

(b) Saeirelt (werreg) 3 TR (fern)

(c) s 3k 3 fegft

(d) e 3R TEHEETE

et 2020 7, I e H fopan 3T Tl @l THW
gee § mivd fomam w2

(a) 3 (b) 6
(c)9 (d) 12
P 3 & SF-a wd gk @2 7
(AP E) (o)
(a) ¥ TRmm WG, 2020 - R
(b) S-20 TEIEH, 2019 — 3N
(c) Sh-7 gier, 2019 R
(d) ¥= i wiem, 2019 - Yo

frfefgs srenfeat § @ S—ar wrg 3 e
R FemraR e gt B et Pt w4 2 7
(a) greTe (b) T

(c) 3= (d) T

Wt o Fefed Tl § @ fred Aifirg-19 70
& el 9T §-<ir srerer e gt ¢

(a) I Few (b) WERT .

(c) BeftETg (d) faR
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137. Which ofthe following rivers is a Trans-Himalayan

137.

138.

139.

140.

141.

river ? ‘
(a) Jnelum -5 Sutle]
(c) Ganga (d) Ravi
ith reference to th i ,
19 \éveiet:sus 2018 rglease?j %3t?3llcae\?errr?r$1%:tcgf Tr:%?e:
:2/ iﬁ'&%%?&t%mm of the following Statement(s)
1. India has 70% of total global tiger's
po ulation. )
2. Nearly 30% of India’s tigers live outside ’
tiger reserve.
select the correct answer from the codes given
; below.
) Codes :
‘E 1 only (b) 2 only
(c) 1and 2 both (d) Neither 1 nor 2
139.  Which of the following is NOT correctly matched ?
(Tribes) (Location)
(a) Angamis —  Nagaland
(b) Birhors -  Jharkhand
/(e)' Khas —  Arunachal Pradesh
(d) Todas —  Tamil Nadu
140. Which among the following hosted ‘Global
Vaccine Summit’ on 4th June, 2020 ?
(a)_wUnited Kingdom
(b) United States of America
(c) India
(d) China
141. Match List - | with List — Il and select the correct
answer using the codes given below the lists :
List -1 List -1l
(Lake) (Location)
A. Sala Lake 1. Arunachal Pradesh
B. Badkhal Lake\’ 2. Haryana
~ C. Loktak Lake 3. Manipur
D. Kaliveli Lake —Z)4. Tamil Nadu
aivel e
Codes ;
A B (02 D
(@1 2 3 4T
2 4 3 4 7
©1 3 2 4
L @1 4 2 3
'_;:, C -27-

RFL -1

frefafea 1 4 wa-m v 16 faarerg-un
(gha-fewmem) =i 2 7
(a) Fem

(c) M

(b) HeAed
(d) Tt

VI G I Jelrs 2020 § =mai i e 2018
e ) ferega wfvare % e 1 Feferfan %9/
el 1 B BH-T1 /8 7 2/8 7

1, v 1 forga ) et am B G H70% 2 |
2. YITE % ST 30% AT, &4 FFEARTEl 6

AR B |
Hr foll Tl e @ W Im IR )
He:
(a) et (b) e 2
(c) 13 2 g d) Ad 1382
frefafea § & S -1 98 gafaa T2 ?
(SrrTier) (arafeafd)
(a)emtﬁ - ATTAVE
(b) faE@R - ARG
(c) T . FeuTEE W&l
(d) et - dieg

freferea § @ fra TeiEe dwiA qRle
497, 2020 1 A B 7

(a) TR fien
(b) ¥ TS ML
(c) WRd
(d) =
xﬁﬁ-laﬁ@—n%g&mﬁqu%ﬁ%'
¥ A ™ %2 A v W I
T -1 gt - I
(377) (srafeuta)
A. T i 1. IEUTES TN
B. SgEd el 2. g
C. T A 3. AR
D. Sefiaet #e 4. AfEHTg
H
A B C D
@ 1 2 3 4
® 2 1 3 4
cy 1 3 2 4
d 1 4 2 3
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142.

143.

144.

145.

146.

‘Sarthak’ launched in August 2020 by Ministry of
Defence, Government of India relates to which
of the following ?

(@) Smart Bomb

(b) Rocket Launcher

(c) Offshore Patrol Vessela—"
(d) Light Combat Aircraft

Given below are two statements, one is labelled
as Assertion (A) and other as Reason (R) :
Assertion (A) : Ahmedabad is the largest centre
of cotton textile industry in India.

Reason (R) : Ahmedabad is located in Major
cotton growing region of India, so it has no
problem of raw materials.

Select the correct answer from the codes given
below.

Codes :

(a)-Both (A) and (R) are true and (R) is the
correct explanation of (A)

(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)

(c) (A) is true but (R) is false

(d) (A) is false but (R) is true

Which of the following State Governments has
started ‘Pashu-Kisan Credit Card’ Scheme in year

2020 ?
(a) Gujarat Wy Haryana
(c) Punjab (d) Rajasthan

Which one of the following is the youngest
mountain range of India ?

(a) Himadri Ra@ (b) Aravalli Range
(c) Western Ghat (d) Vindhya Range

On 27t July, 2020 Prime Minister of India virtually
inaugurated three new Indian Council of Medical
Research (ICMR) high-end testing laboratories for
COVID-19 test at which of the following places ?
(a) New Delhi, Kolkata, Chennai .

(b) Kolkata, Noida, Mumbai -

(c) New Delhi, Kolkata, Mumbai -

(d) Chennai, Delhi, Mumbai -
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(a) @I &M
(b) ThT J&ITeh
(c) J9aE Il AgA
(d) Beeh TTeT; fomm

4 @ wem A T £, R B FE (A) T

TR I FHR (R) HET T2

HA (A) ; ITEACETE WId § gell I I F wad

ST A

W1 (R) : FEHEETE I <h Y HH A1 & 7
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(a) (A) 3 (R) < &t § 3R (R), (A) T &
ST HT 8

(b) (A) 3T (R) & Wt € g (R), (A) 1 &R
AT e ST 8

() (A) F& 2 fohrg (R) TTerd 2

(d) (A) T & foreg (R) wiEl @

frefeea o A fora Usa @R 7« wy-foRaH
iz 1S AreT w1 Ty 99 20208 TR R 2
(a) T (b) ®f@mm
(c) oo (d) TSTEIA

Fraferfea & & - wRa At TelTaq gdaq S 37
(a) fems Aoft (b) el Sroft
(c) ufFerdt w1 (d) Rrearser doh

27 Je, 2020 < WRA 3 Ferw 3 Preferaa 4
fore R W e 19 whem ¥ fyg @ 7w
fafeen sTgeuR diwe (amdehom.am,) 3ea-M
T ST < Teel: e R 7

(a) 7 el Frereman, =

(b) ShYeTRTaT, ST, qra

(c) 7§ T, Rieresran, gras

(d) ==, feeeht, gead
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147. Match List =l with List - Il and select the correct | 147. g= | @) gt — 1| @ ghfer Hifsrg 7o g

| answer using the codes given below the lists - % 92 fod T g @ T Im ghT
{ List -1 List =1l g - | gt - I
| (National Parks) (States) fuicksic)) (T3)
| A. Indravati 1. Jharkhand A. FZEd 1. FRETs
B. Mollem 2. Haryana _ B.HieeH 2. g
C. Kalesar 3. Goa 220 C. R 3. T
D. Betva * 4. Chhattisgarh D. =i 4. THitETg I
Codes : ' R
A B C D ARERER
@4 3 2 1 @ 4 3 2 1 !
b 4 2 3 1 () 4 2 3 1 ‘
© 4 1 3 2. c 4 1 3 2 ;
(d) 3 4 2 1 (d) 3 4 2 1
148.  Which of the following Airports in Uttar Pradesh | 148. 3w wew & ffifad 3 & frm zaré o =+ w
has been granted International Status on & P HEHUSH A 24 5, 2020 &) SRS gt
24" June, 2020 by Union Cabinet of India ? g o 2 7
(a) Agra Airport (b) Prayagraj Airport (a) 3T T8 378 (b) TATR gaTs g
(c) Gorakhpur Airport (d) Kushinagar Airport (c) TRER &1 31 (d) IR gard 3
149. Which of the following are NOT correctly matched ? | 149, freifafiad # @ wiv-a1 adt gife 7@ R 7
(Mineral) (Mining City) (@) (ST IR)
1. Copper — '—=Chitradurga 1 atar _ &5@{
2. Iron ore - Ballari 2. dte
3. Manganese - Bhilwara o - ¢ 7
4. Bauxite _ Katni 3. T - freramer
Select the correct answer from the codes given 4. STFHIEe = el
below. i fed ™ g & T s gfe |
Codes : %2
(a) 1and 2 (b) 2and 3 (a) 132 (b) 23 3
a_(c¥1 and 3 (d) 2and 4 (c) 13 3 (d) 23 4
150. Which of the following countries was NOT 150. frerfifea & @ frm 3w = af 2021-22 %
elected in June 2020 as a non-permanent TR T e i o e gee & w9 #
member of United Nations Security Council for : )
LG 20204 7€ g IR ?
the year 202122 2 -
irel (a) IS (b) 74
n.:',. and (b) @_[Way ﬁm
(c) Mexico_ (d) Canada (c) (d) =TSt i
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